MA/CSSE 474   Day 40 Announcements and Summary  
1) [bookmark: _GoBack]Don't forget the course evaluation on Banner Web.
2) Final Exam Wednesday Feb 26, 8:00 AM.  (A-M: G315, O-Y: G317)
a) Covers the entire term, but heavier emphasis on Turing Machines and decidability.
b) Nothing past Chapter 22.
c) You may bring four sheets of paper, plus the handout on TM macros.
d) A note on the R  CF  D  |   SD  ¬SD    questions.  Partial credit for an answer that is both
i) Immediately adjacent to the correct answer, and
ii) On the correct side of the D/SD line.
Main ideas from today   Example: 
1) EqTMs = {<Ma, Mb> : L(Ma) = L(Mb)}    details on slides

2) Details matter:
a) L1 = {<M>: M has an even number of states}.
b) L2 = {<M>: |<M>| is even}.
c) L3 = {<M>: |L(M)| is even}.
d) L4 = {<M>: M accepts all even length strings}.









3) {<M, w>: M is a Deciding TM and Rejects w}   (details on slides)

a) What about these?
L1 = {a}.
b) L2 = {<M> : M accepts a}.
c) L3 = {<M> : L(M) = {a}}.








4) {<Ma, Mb> :   L(Ma) – L(Mb)} 


5) Reduction through computation History
a) A configuration of a TM M is a 4 tuple:
i) M’s current state, 
ii) the nonblank portion of the tape before the read head, 
iii) the character under the read head, 
iv) the nonblank portion of the tape after the read head).
b) A computation of M is a sequence of configurations  C0, C1, …, Cn for some n  0 such that:
i) C0 is the initial configuration of M, 
ii) Cn is a halting configuration of M, and: 
iii) C0 |-M  C1 |-M  C2 |-M … |-M  Cn.
c) A computation history encodes a computation:  
i)  (s, , q, x)(q1, , a, z)(    ….    )(    ….    )(qn, r, s, t), where qn  HM.

6) CFGALL = {<G> : G is a cfg and L(G) = *}










